Just Valves Pty Ltd

TECHNICAL REFERENCE SECTION

Contents Reference Page

. Flange Tables

+ TableD-H Ref -1
+ DIN&PIN 16 Ref - |
+ ANSI 150 - 1500 Ref - I
+ JIS5K, 10K & 16K Ref- i
. Conversion
. Temperature Ref - IV
. Length Ref - IV
. Pressure Ref -V

. Valve Sizing

. Air & Gases Ref - VI
. Water & Liquids Ref - VI
. Saturated Steam Ref - VI

Page 1




Just Valves Pty Ltd

Flange Tables - AS2129 & DIN

TABLE D
NB Size 15 | 20 | 25 | 32 | 40 | 50 | 65 | 80 | 100 | 125 | 150 | 200 | 250 | 300 | 350 | 400 | 450 | 500 | 600
oD 95 [ 100 | 115|120 | 135 | 150 | 165 | 185 | 215 | 255 | 280 | 335 | 405 | 455 | 525 | 580 | 640 | 705 | 825
PCD 67 | 73 | 83 | 87 | 98 | 114 | 127 | 146 | 178 | 210 | 235 | 292 | 356 | 406 | 470 | 521 | 584 | 641 | 756
No BOLTS 4 | 4| 4| 4| 4| 4|4]|4a|4|8|8]|8]|8|12[12]12]12|16]16
DIAOFHOLE | 14 |14 |14 | 14 |14 |18 |18 | 18 | 18 | 18 | 18 | 18 | 22 | 22 | 26 | 26 | 26 | 26 | 30
BOLT SIZE | M12 |M12[M12|M12|M12 |M16 | M16 | M16 | M16 | M16 | M16 | M16 | M20 | M20 | M24 | M24 | M24 | M24 | M27
BOLTLENGTH | 45 | 45 | 45 | 50 | 50 | 60 | 60 | 60 | 65 | 65 | 65 | 70 | 75 | 85 | 95 | 95 [ 100 | 110 | 120
TABLE E
NB Size 15 | 20 | 25 | 32 | 40 | 50 | 65 | 80 | 100 | 125 | 150 | 200 | 250 | 300 | 350 | 400 | 450 | 500 | 600
oD 95 100 | 115 | 120 | 135 | 150 | 165 | 185 | 215 | 255 | 280 | 335 | 405 | 455 | 525 | 580 | 640 | 705 | 825
PCD 67 | 73 | 83 | 87 | 98 | 114 | 127 | 146 | 178 | 210 | 235 | 292 | 356 | 406 | 470 | 521 | 584 | 641 | 756
No BOLTS 4 | 4| 4| 4| 4a|4a|4|4a|8|8|8]|8|12[12]12|12]|16]16] 16
DIAOFHOLE | 14 | 14 | 14 | 14 |14 |18 | 18 | 18 | 18 | 18 | 22 | 22 | 22 | 26 | 26 | 26 | 26 | 26 | 33
BOLT SIZE  |M12|M12|M12|M12 |M12 | M16 | M16 | M16 | M16 | M16 | M20 | M20 | M20 | M24 | M24 | M24 | M24 | M24 | M30
BOLTLENGTH | 45 | 45 | 45 | 50 | 50 | 60 | 60 | 60 | 65 | 65 | 65 | 65 | 75 | 85 | 95 | 100 | 120 | 110 | 140
TABLE H
NB Size 15 | 20 | 25 | 32 | 40 | 50 | 65 | 80 | 100 | 125 | 150 | 200 | 250 | 300 | 350 | 400 | 450 | 500 | 600
oD 115 [ 115 | 120 | 135 | 140 | 165 | 185 | 205 | 230 | 280 | 305 | 370 | 430 | 490 | 550 | 610 | 675 | 735 | 850
PCD 83 | 83 | 87 | 98 | 105 | 127 | 146 | 165 | 191 | 235 | 260 | 324 | 381 | 438 | 495 | 552 | 610 | 673 | 781
No BOLTS 4 | 4| 4| 4| 4| 4|88 |8 |8 1212|1216 |16 ]20]| 20|24 | 24
DIAOFHOLE |18 |18 | 18 | 18 | 18 |18 |18 | 18 | 18 | 22 | 22 | 22 | 26 | 26 | 30 | 30 | 33 | 33 | 36
BOLT SIZE  |M16|M16 |M16 |M16 | M16 | M16 | M16 | M16 | M16 | M20 | M20 | M20 | M24 | M24 | M27 | M27 | M30 | M30 | M33
BOLTLENGTH | 60 | 60 | 60 | 65 | 65 | 75 | 75 | 75 | 85 | 95 | 95 | 100 [ 120 | 110 | 130 | 140 | 160 | 170 | 200
DIN - PN16
NB Size 15| 20 | 25 | 32 | 40 | 50 | 65 | 80 | 100 | 125 | 150 | 200 | 250 | 300 | 350 | 400 | 450 | 500 | 600
oD 95 [ 105 | 115 | 140 | 150 | 165 | 185 | 200 | 220 | 250 | 285 | 340 | 405 | 450 | 520 | 580 | 640 | 715 | 840
PCD 65 | 75 | 85 | 100 [ 110 | 125 | 145 | 160 | 180 | 210 | 240 | 295 | 355 | 410 | 470 | 525 | 585 | 650 | 770
No BOLTS 4| 4| 4| 4| 44|48 |8 |88 12121216 |16 |20 20 |20
DIAOFHOLE |14 | 14 | 14 | 18 |18 | 18 | 18 | 18 | 18 | 18 | 22 | 22 | 26 | 26 | 26 | 30 | 30 | 33 | 36
BOLT SIZE  |M12| M12 | M12 | M16 | M16 | M16 | M16 | M16 | M16 | M16 | M20 | M20 | M24 | M24 | M24 | M27 | M27 | M30 | M33
BOLTLENGTH |50 | 55 | 55 | 60 | 60 | 65 | 65 | 70 | 75 | 80 | 90 | 90 | 100 | 100 | 120 | 120 | 120 | 130 | 140

Ref - I.




Just Valves Pty Ltd

Flange Tables - ANSI

CLASS 150
Nominal Bore Size | 15 | 20 | 25 | 32 | 40 | 50 | 65 | 80 |100 | 125 | 150 | 200 | 250 | 300 | 350 | 400 | 450 | 500 | 600
oD 89 | 98 [108 [ 117|127 | 152 | 178 | 191 [ 229 | 254 | 279 | 343 | 406 | 483 | 535 | 597 | 635 | 700 | 815
PCD 60.5| 70 |79.5| 89 [98.5|121 | 140 | 153 | 191 | 216 | 242 | 299 | 362 | 432 | 476 | 540 | 578 | 635 | 750
No BOLTS 4 | 4| 4| a|a|la|a|lals|8 |88 |12|12|12]16] 16 | 20 | 20
DIA OF HOLE 16|16 |16 | 16 | 16 | 20 [ 20 | 20 |20 | 23 | 23 |23 [ 29 | 26 | 29 | 29 | 32 | 32 | 35
BOLT SIZE 12 [ 122 [ 1722 [ 1127 | 1127 | 518 | 5187 | 5187 | 5187 | 3147 | 3147 | 314> | 718" | 708" | 17 | 17 [1 178" [1 1/8” | 1 1147
BOLT LENGTH 60 | 65 |65 | 70 | 70 [ 85 [ 90 [ 90 | 90 | 90 [ 100|110 [ 115120 130|130 | 150 | 160 | 175
CLASS 300
Nominal Bore Size | 15 | 20 | 25 | 32 | 40 | 50 | 65 | 80 | 100 | 125 [ 150 | 200 | 250 | 300 | 350 | 400 | 450 | 500 | 600
oD 95 [ 117 | 124 [ 133 [ 155 | 165 | 190 | 209 | 254 | 280 | 318 | 381 | 445 | 521 | 585 | 648 | 711 | 775 | 915
PCD 66.5|82.5| 89 |98.5|115 | 127 | 149 | 168 | 200 | 235 | 270 | 330 | 387 | 451 | 515 | 572 | 629 | 686 | 813
No BOLTS 4 | 4| 4| 4|48 |88 |8 |8 1212|1616 |20 |20 | 24 | 24 | 24
DIA OF HOLE 16|19 (19|19 2219|2222 |22 |22 |22 26| 29| 32| 32|35 ]| 35 | 35 | 41
BOLT SIZE 112" | 5/8” | 5/8” | 5/18” | 3/14” | 518" | 3/4” | 3/4” | 3/4” | 3147 | 3147 | 7/8” | 17 |1 1/8”|1 1/8”[1 1/4°|1 1/4”[1 1/47|1 172
BOLT LENGTH 65 | 75 | 80 | 80 | 90 [ 90 [ 100|110 ] 110|120 | 125 [ 140|155 | 170 [ 175 | 190 | 195 | 205 | 230
CLASS 600
Nominal Bore Size | 15 | 20 | 25 | 32 | 40 | 50 | 65 | 80 | 100 | 125 | 150 | 200 | 250 | 300 | 350 | 400 | 450 | 500 | 600
oD 95 [ 118 | 124 [ 133 | 156 | 165 | 191 | 210 | 273 | 330 | 336 | 419 | 508 | 559 | 603 | 686 | 743 | 813 | 940
PCD 67 | 83 | 89 | 98 | 114 | 127 | 149 | 168 | 216 | 267 | 292 | 349 | 432 | 449 | 527 | 603 | 654 | 724 | 838
No BOLTS 4| 44| 4]|a]|8|8|8|8|8|12|12]16]20]20]|20]20]24] 24
BOLTHOLEDIA | 16 |19 | 19 [ 19 | 22 [ 19 | 22 [ 22 | 25 | 29 | 29 | 32 | 35 | 35 | 38 | 41 | 44 | 44 | 51
BOLT SIZE 1/2” | 5/8” | 5/8” | 5/8" | 3/4” | 5/8” | 3/4” | 3147 | 7/8” | 17 | 17 |1 1/8°|1 1/4°|1 1/4”|1 3/8"[1 1/2°|1 5/8"|1 5/8"|1 7/8"
BOLT LENGTH 80 | 90 | 90 [ 100|105 [ 105|120 [ 125 | 145|165 170 | 195 | 215 [ 220 | 235 | 255 | 275 | 290 | 330

Ref - II.




Just Valves Pty Ltd

Flange Tables - ANSI

CLASS 900
Nominal Bore Size | 15 | 20 | 25 | 32 | 40 | 50 | 65 | 80 | 100 | 125 | 150 | 200 | 250 | 300 | 350 | 400 | 450 | 500 | 600
oD 121 ({130 | 149 | 159 | 178 | 216 | 245 | 241 | 292 | 349 | 381 | 470 | 546 | 610 | 641 | 705 | 788 | 857 | 1042
PCD 83 | 89 | 102 | 111|124 [ 165 | 191 | 191 | 235 | 279 | 382 | 394 | 470 | 533 | 559 | 616 | 686 | 749 | 902
No BOLTS 4 4 4 4 4 8 8 8 8 8 12 |12 | 16 | 20 | 20 | 20 | 20 | 20 20
BOLT HOLE DIA 22 |22 | 25|25 |29 |26 |29 | 25| 32 |35 |32 |38 |38 |38 |41 | 44 | 51 | 54 67
BOLT SIZE 3/4” | 3/4” | 7/18” | 7/18” | 1" (7/8” | 1" | 7/8” |1 1/8”(1 1/4"|1 1/8”|1 3/8”|1 3/8”|1 3/8”|1 1/2"|1 6/8”(1 7/8"| 2" |2 1/2"
BOLT LENGTH 105|115 (125 | 125|140 | 145|160 | 145 | 170 | 190 | 195 | 220 | 235 | 255 | 275 | 285 | 325 | 345 | 435
CLASS 1500
Nominal Bore Size | 15 | 20 [ 25 | 32 | 40 | 50 | 65 | 80 | 100 | 125 | 150 | 200 | 250 | 300 | 350 | 400 | 450 | 500 | 600
oD 121 {130 | 149 | 159 | 178 | 216 | 245 | 267 | 311 | 375 | 394 | 485 | 584 | 673 | 749 | 826 | 915 | 984 | 1169
PCD 83 | 89 (102 | 111|124 | 165|191 | 203 | 241 | 292 | 318 | 393 | 483 | 572 | 635 | 705 | 775 | 832 | 991
No BOLTS 4 4 4 4 4 8 8 8 8 8 12 |12 |12 | 16 | 16 | 16 | 16 | 16 | 16
BOLT HOLE DIA 22 |22 |25 |1 25|29 | 25|29 | 32 | 35| 41 | 38 | 44 | 51 | 54 | 60 | 67 | 73 | 79 | 92
BOLT SIZE 3/4” | 3/4” | 7/8” | 7/18” | 1" |7/8"| 17 |11/8”|11/4”[1 1/2"|1 3/8”(1 5/8”(1 7/8”| 2" |21/4”|21/2"|2 3/4") 3" |3 1/2"
BOLT LENGTH 105|115 (125|125 | 140 | 145|160 | 180 | 195 | 250 | 260 | 290 | 335 | 375 | 405 | 445 | 495 | 540 | 615

Ref - II.




Just Valves Pty Ltd

Flange Tables - JIS B2220

JIS 5K
NB Size 15 | 20 | 25 | 32 | 40 | 50 | 65 | 80 | 100 | 125 | 150 | 200 | 250 | 300 | 350 | 400 | 450 | 500 | 600
oD 80 | 85 | 95 | 115|120 (130 | 155 | 180 | 200 | 235 | 265 | 320 | 385 | 430 | 480 | 540 | 605 | 655 | 770
PCD 60 | 65 | 75 | 90 | 95 [ 105|130 | 145 | 165 | 200 | 230 | 280 | 345 | 390 | 435 | 495 | 555 | 605 | 715
No BOLTS 4 4 4 4 4 4 4 4 8 8 8 8 12 |12 |12 | 16 | 16 | 20 | 20
DIA OF HOLE 12 {12 |12 |15 {15 |15 | 16 |19 | 19 | 19 | 19 | 23 | 23 | 23 | 25 | 26 | 26 | 25 | 27
BOLT SIZE M10 |M10 {M10 | M12 | M12 (M12 | M12 | M16 | M16 | M16 | M16 | M20 | M20 | M20 | M22 | M22 | M22 | M22 | M24
JIS 10K
NB Size 15 | 20 | 25 | 32 | 40 | 50 | 65 | 80 | 100 | 125 | 150 | 200 | 250 | 300 | 350 | 400 | 450 | 500 | 600
oD 95 | 100 | 125|135 | 140 | 155 | 175 | 185 | 210 | 250 | 280 | 330 | 400 | 445 | 490 | 560 | 620 | 675 | 795
PCD 70 | 75 | 90 | 100 | 105 | 120 | 140 | 150 | 175 | 210 | 240 | 290 | 355 | 400 | 455 | 510 | 565 | 620 | 730
No BOLTS 4 4 4 4 4 4 4 8 8 8 8 12 |12 | 16 | 16 | 16 | 20 | 20 | 24
DIA OF HOLE 15 (15 (19 {19 [ 19 [ 19 | 19 | 19 | 19 | 23 | 23 | 23 | 25 | 25 | 25 | 27 | 27 | 27 | 33
BOLT SIZE M12 {M12 | M16 | M16 | M16 | M16 | M16 | M16 | M16 | M20 [ M20 | M20 | M22 | M22 | M22 | M24 | M24 | M24 | M30
JIS 16K
NB Size 15 | 20 | 25 | 32 | 40 | 50 | 65 | 80 | 100 (125]| 150 | 200 | 250 | 300 | 350 | 400 | 450 | 500 | 600
oD 95 | 100 [ 125 | 135 | 140 [ 165 | 175 | 200 | 225 |270| 305 | 350 | 430 | 480 | 540 | 605 | 675 | 730 | 845
PCD 70 | 75 | 90 | 100 | 105 [ 120 | 140 | 160 | 185 |225| 260 | 305 | 380 | 430 | 480 | 540 | 605 | 660 | 770
No BOLTS 4 4 4 4 4 8 8 8 8 [8 |12 |12 (12 |16 | 16 | 16 | 20 | 20 | 24
DIA OF HOLE 15 (16|19 |19 [ 19 | 19 | 19 | 23 | 283 |25| 26 | 25 | 27 | 27 | 33 | 33 | 33 | 33 | 39
BOLT SIZE M12 [ M12 | M16 | M16 | M16 | M16 | M16 | M20 | M20 | M2 | M22 | M22 | M24 | M24 | M30 | M30 | M30 | M30 | M36
Ref - Il

Page 5




Just Valves Pty Ltd

Temperature Conversion

C |FtoC| F C |(FtoC| F C FtoC F C |FtoC F
51 | 60 | -76 -5 23 | 734 11| 52 [1256 272 | 81 [177.8
46 | -50 | -58 44 | 24 | 752 1.7 | 53 [1274 278 | 82 [1796
40 | -40 | -40 39| 25 | 77 122 | 54 |1292 283 | 83 |181.4
34 | -30 | -22 33| 26 | 788 1281 55 | 131 2890 | 84 [183.2
-29 | -20 -4 -28 | 27 | 80.6 13.3 56 |132.8 294 | 85 185
-23 -10 14 2.2 28 82.4 139 57 134.6 30 86 186.8

1781 0 32 17 | 29 | 84.2 1441 58 1364 306 | 87 | 1886
1721 1 33.8 11| 30 | 86 15 59 1382 311 | 88 | 1904
161 3 | 374 0 32 | 89.6 ' 322 90 | 194
56| 4 | 392 06 | 33 | 914 12; g; 12;'2 328 91 1958
-15 5 41 11 | 34 | 932 72 63 1254 333 | 92 | 1976
144 6 | 428 17 | 35 | 95 e 64 472 33.9 | 93 | 1994
139 7 | 446 22 | 36 | 96.8 R 1Zé 344 | 94 | 2012
133 8 | 464 28 | 37 | 986 - 35 95 | 203
128 9 | 482 33 | 38 |1004 189 | 66 |150.8 356 | 96 | 2048
122 10 50 39 | 39 [102.2 19.4 | 67 |152.6 36.1 | 97 |206.6
1171 11 | 518 44 | 40 | 104 20 68 |154.4 36.7 | 98 |208.4
111 12 | 536 5 41 [105.8 206 | 69 |156.2 372 | 99 [210.2
-106| 13 | 554 56 | 42 [107.6 211 | 70 | 158 378 | 100 | 212
10 | 14 | 57.2 6.1 | 43 |109.4 217 | 71 [159.8 43 | 110 | 230
94 | 15 59 6.7 | 44 [111.2 2221 72 [1616 49 | 120 | 248
89| 16 | 608 72 | 45 | 113 228 | 73 [163.4 54 | 130 | 266
83| 17 | 626 78 | 46 [114.8 233 | 74 |1652 60 | 140 | 284
-7.8 18 64.4 8.3 47 116.6 239 75 167 66 150 302
72 19 |662 89 | 48 |1184 244 | 76 |1688 71 | 160 | 320
6.7 | 20 68 94 | 49 [1202 25 77 11706 77 | 170 | 338
61| 21 | 698 110 o6 5c1) 1122 561 78 (1724 82 | 180 | 356
56| 22 | 716 . 5 23.8 %11 79 1742 88 | 190 | 374
267 | 80 | 176
C = (Centigrade 5/9 + 32) F = (Fahrenheit 5/9 -32)
Length Conversion
Inches Ft Mm Cm M Inches Ft Mm Cm M

1 0.08 25.4 2.54 0.0254 19 1.6 4826 | 48.26 | 0.4826

2 0.17 50.8 5.08 0.0508 20 1.7 508 50.8 | 0.508

3 0.25 76.2 7.62 0.0762 21 17 533.4 | 53.34 | 0.5334

4 0.33 101.6 10.16 | 0.1016 22 1.8 558.8 | 55.88 | 0.5588

5 0.42 127 12.7 0.127 23 1.9 584.2 | 5842 | 0.5842

6 0.50 152.4 1524 | 0.1524 24 2.0 609.6 | 60.96 | 0.6096

7 0.58 177.8 17.78 | 0.1778 25 2.1 635 63.5 | 0.635

8 0.67 203.2 20.32 | 0.2032 26 22 660.4 | 66.04 | 0.6604

9 0.75 228.6 2286 | 0.2286 27 2.2 685.8 | 68.58 | 0.6858
10 0.83 254 25.4 0.254 28 2.3 7112 | 7112 | 0.7112
11 0.92 279.4 27.94 | 0.2794 29 24 736.6 | 73.66 | 0.7366
12 1.0 304.8 30.48 | 0.3048 30 25 762 76.2 | 0.762
13 1.1 330.2 33.02 | 0.3302 31 26 7874 | 78.74 | 0.7874
14 1.2 355.6 35.56 | 0.3556 32 2.7 812.8 | 81.28 | 0.8128
15 1.2 381 38.1 0.381 33 27 838.2 | 83.82 | 0.8382
16 1.3 406.4 40.64 | 0.4064 34 28 863.6 | 86.36 | 0.8636
17 1.4 431.8 4318 | 0.4318 35 29 889 88.9 | 0.889
18 15 457.2 4572 | 0.4572 36 3.0 9144 | 91.44 | 0.9144

Ref - IV.




Just Valves Pty Ltd

Sdvd = 0690° X I1Sd

alldwiuad alenbs Jad 8210y - welboy = 20£020° X ISd

Lollpw/uomauebaw = (B4|N) s|eosedebaw = 8¥68900° X I1Sd

0Z0L | S€0L | 9¥S0L | 2v'c0l | 000SK| ¥0ES | 2'8ES | 6€'8vG | 82°€S |008Z] 8'OvE | 611G | G'8SE | 9L°GE |00LS| Z'€9L | 9'G9L | v2'89L | GG 9L |00¥E
256 | 996 | €¥86 | €596 |000vL| 9€2S | €165 | 9e1bS | 60°€S |002L] Ove | Sve | velse | LvvE |000S| ¥'9SL | 28SL | 1219l | 98°G) |008T
88 | 168 | 66'€16 | £9'68 |000EL| 89IS | v¥2S | €EweS | ¥2S |009L| z€ec | 1'8ee | Gvve | 8L'€E |006Y| 96vL | 8451 | 89¥SL | L1'S) |0022
918 | 828 | 89°€v8 | vL78 |0002k| O0LG | 216 | €125 | 121G |00SL| v9ze | zhee | Lvige | L'es |008Y| 8Tyl | 6vvl | v9LvL | 8y vl |00LE
8v. | 66L | 8c'€.L | ¥8'SL |000LL| Z'€0S | 90LS | L2028 | 204 |00VL| 96lE | £vee | vroge | Lvze |00LF| 9L | 8L | Loovl | 6L |0002
089 | 069 | 20°€0L | S6'89 |0000L| v'96v | L'€05 | ¥ZELS | £5°0G |008L| 82LE | ¥L1€ | \weze | 2L be [009%| z62L | bLEL | 85EEL | L'Eb |006)
7€19 | 1689 | v0'969 | 9289 | 0066 | 9687 | 896¥ | 12905 | v9'6¥ |002L| 906 | SOLE | 8E9LE | €0'LE |00SY| vzeh | Tvzh | Ss 9zt | bizk | 008t
7099 | 2929 | 10689 | 1529 | 0086 | 828y | 61687 | 8166V | S6'8Y |00LL| 2662 | 9€OE | SE60E | PEOE |00WP| 9GLL | €L | 25 6LL | 22 bb |00LL
9659 | £699 | 961189 | 8399 | 0046 | 9Ly | €8v | SLz6v |9z'8v |000L| v26z | L'967 | ZeZ0E | G962 |00EY| 8'80L | ¥OLL | 6¥2ZhL | £0'LL |009L
8759 | ¥299 | 9679 | 6199 | 0096 | 269y | oLy | zL'G8v | LGLv |0069| 98z | 8687 | 62562 | 96'8Z |002P| 20l | S'€0L | 9oL | vE 0L |00SH
ov9 | 5550 | 26299 | SG9 | 0096 | v29v | 69 | 608y | 88°9v |0089| 88/ | 6282 | 9788 | 2282 |00MY| 26 | 996 | £v'96 | S96 |00V
76£9 | 98Y9 | 681099 | 18v9 | 00¥6 | 9GSy | £29v | 90'bv | zov |0029] ziz | 9lz | €248z |85z |000v| ves | 268 | vi6 | 968 |00S
289 | 2'1v9 | 98°€59 | 2Lv9 | 0086 | 8'8vy | v'SSy | £OvOv | 1SSy |0099| z'Soz | 1697 | vl | 689z |006E| 918 | 828 | Lews | 28 |00z
9'GZ9 | 8vE9 | 289v9 | £v'€9 | 0026 | zvv | G8vv | Gy | 28wy |00S9| v'8Sz | 229z | L1292 | 29z |0088| Sv. | 6G. | v | 8L |00k
8819 | 6229 | 6,669 | ¥229 | 0016 | ZSev | 9'Lbv | 966vv | €L v |00¥9| 91SZ | €952 | 1092 | 1SSz |0026] 89 | 69 | €0 | 69 |000k
219 | 129 | 9L2e9 | S0z9 | 0006 | v'8zv | LvEv | €6zvy | vhev |0089| 8vvz | b8y | L€sz | 8wz |009€| 219 | 129 | 8ze9 | z9 | 006
209 | L1719 | £4529 | 9519 | 0068 | 9'lzv | 8.2v | 6Gev | Slev |0029| ssz | vz | 0'9vz | €Lvz |00S€| v¥S | 2SS | vz9S | 2gG | 008
865 | 2209 | 2819 | 2909 | 0088 | 8viv | 60zv | 2882y | 902y |00L9| z1€z | 9vEe | vo6EZ | vhee |00VE| 9iv | £8v | Lz6v | €8 | 00L
916G | €009 | 29119 | 866G | 0028 | 80v | viv | veler | 28w |0009| vvez | 222z | L0zez | SLzz |00sE| sOv | v | sizr | vL'v | 009
878G | v'€6G | vOV09 | £6G | 0098 | ZL0v | LLOv | L8¥Ly | 89°0v |006S| 921z | 802z | 86vzz | 90zz |0028| we | GvE | SLse | sve | 00S
8/G | 598G | 19265 | 19'8S | 0088 | ¥'¥6E | 200V | 8.0V | 66'6€ |008G| 80LZ | 6€12 | 6Lz | L€12 |00VE| ziz | 922 | 2vse | 9z | 00w
T1iS | 9645 | 85065 | 262G | 00v8 | 985 | £'€6€ | SL00v | £6€ |0026| w0z | L0z | ze60bz | 890 |0008| vOz | 20z | 60k | 20 | OOE
Y95 | 274G | S5€8S | €225 | 0088 | 808€ | v98E | zL'€6€ | 19'8E |009G| z 261 | 1007 | 68'€0Z | 66'6) |0062| 9€L | 8€L | 90wl | 8et | 002
9SS | 8695 | 259/ | v595 | 0028 | viE | G6Lc | 6998 | z6LE |00SG| v06L | €6l | 98961 | €61 |0082| 89 | 69 | €0 | 690 | 00k
809G | 689G | 6v'69S | S8'GG | 008 | ¢L95 | 92LE | 99626 |ccLc |00vG| o'€sl | €981 | €868L | 298l |0022| LS | 8vS | ZzS | 250 | oL
¥bG | 295 | 9v'zes | 915G | 0008 | ¥'09€ | L'S9E | €9z/€ | vGoc |008S| 891 | ¥6.L | szer | €621 |0092| ve | sve | zge | veo | 08
TLES | 1'SYS | 2v'Sss | Lvvs | 0062 | 9€se | 886 | 9'G9e | G8'GE |0028| 024 | S2ib | 221 | vziy |oose| v | ezv | erb | 210 | se
saiud| o va | zwo 6y | eaw | 1sd | 3229 | suva | zwo 6% | eaw | 1sd | 5219 | suva | zwo 46y | eaw | 1sd | 52°1Y | suva | zwonbn| eaw | 1sd
-souny -souny -souwny -sowyy

UOISI9AUO) dInssald

Ref - V.



